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Z?zaiﬂ Xi = Xs+Xg+Xg
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T X2 = (X X X+ e XC0)
i iall S g sanall e g (1L, X0)*
(T X0)? = (Xg X2 +X3 + e Xn) 2
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20, 18, 24, 22, 16 YIS OO dsed lae) €13 /) JUa

1) (Xo, Xi) 2) ¥ (Xi)? 3) ¥, Xi
Solution: -
X1=20, X,=18 X3=24 X4=22
1—(Z§=1Xi)2 = (X1 +Xp+X3+Xa+Xs)?
= (20+18+24+22+16)°
= (100)?
=10000

2- 371 (X0D)% = (X0) P+ (Xa)+(Xa) +(Xa)+(Xs)?
= (20)%+(18)%+(24)%+(22)%+(16)?
= 2040

3-Y3 X = (XptXa+Xa)
=20+ 18 + 24
=62
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X5=16

(Yi=5,2,6) 5 (X=341) pf alS ) /Y Jha

2- Y3 XixYi

Solution:

1- Y2 Xi* Y3 Yi = (Xq+Xo+Xa) * (Y1+Yo+Y3)
= (3+4+1) *(5+2+6)
=(8)*(13) =104

2- Y3 XixYi = (X=Y1+Xo5Y 2+ X5+Y3)
= (3)(5) + (4)(2) + (1)(6)

=15+8+6 =29
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Yi=3,9,6, 2 K} Xi=2,6,3,1
- b Lae JS A aa
1- Y, (Yi— Xi)? 2-Y1  (Xi—3)(Yi—5) 3-Y3  XixYi?
Solution: -
1- ¥, (Yi— Xi)? = (Y1 = Xa)? + (Y2 = X2)*+ (Y3 = X3)2+ (Ya = Xa)?

=(3-2)2+(9-6)%2+(6-3)2+(2-1)?
=(1)2+(3)2+(3)2+(1)?
=1+9+9+1

=20

2-34 1 (Xi —3)(Yi—5) = (X1-3)(Y1-5) + (X2~ 3)(Y2- 5) + (X3- 3)(Y3- 5) + (Xa- 3)(Ys- 5)
=(2-3)(3-5)+(6-3)(9-5) +(3-3) (6-5) + (1- 3) (2- 5)
=(-1)(-2) + (3) (4) +(0) (1) + (-2) (-3)
=2+12+0+6

= 20

3-Yi  Xi*Yi? =Xy (Y1)? + X5 (Y2)” + X3 (Y3)°
=2(3)2+6(9)*+3 (6)*
=18 + 486 + 108

=612
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Sl eiud FITATINNS
50-52 5
53-55 15
56-58 45
59-61 27
62-64 8

£ saxall 100
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(Complex Table) S !l Jgandl =¥
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A8 sl
B 51-60 61-70 71-80 g gaxall
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121-140 20 6 4 30
141-160 10 2 40 52
161-180 2 6 10 18
£ sanal) 32 14 54 100

(frequency distribution table) ¢ S a3 gil) J gaa*
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31-40 1
41-50 2
51-60 5
61-70 15
71-80 25
81-90 20
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